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rs A, B, C and D to each guestion are given. The choice which you think is correct,

NOTE: Four possible answer ¢ - i
fill thgt Bubble in front of that question with marker or pen ink. Cutting or filling two or more

L___ bubbles will result in zero marks in that question. o :
QUESTIONNo.l GOY ~11-2Y 1 peaiem
Dry cleaning business is an example of & J& Li lzbul' gl dis | 4

Services Business S ;I,.ub’JLi {8) Trading Business ¢ ;!,ul’g};lf (A)

Famous Business J;Lm’;x” (D) Manufacturing Business J4»Kd’|:- {€)
Fixed assets having no physical existence are W 2 Ut 25,5 2 b .}; 7=l 2 J"" 2

: Tangible Assets a;IyAﬂJ/ (8) Intangible Assets ..-Ar.st'lg;/,é (A)
Useless Assets = 2815 & (D) Fictitious Assets = 281 J? (C)

¢ 2 un 200 7 s ad 35 ¥ A mdats Bog ot 4o 1,20,000 A J1 | 3
If capital is Rs. 1,20,000 and liabilities are 35 % of capital. Total assets will be ?

4+ 204000 (D) & 1,62,000 (C) <4 78,000 (B) 4 1,20,000 (A)
Assets = Liabilities + Capital represents 4 fﬁtF bt edah ISM.'- =l A | 4
Trial Balance §=U} = ST (B) Accounting statement it G (A)

Accounting equation S =bsle $ab > (D) Trading and profit and Loss a/c s :J[;W' ,8’ 2l JJE’ (€)

The process of equalizing the both sides of an account is called ¢ bl lffd" LS s S Ak uds J:If\.ﬁ -5
Equation bl (D) Balancing U¥ Ll (C) Journalizing tS el Jz (B) | Posting &L4 (A)

List of balances in the ledger is termed e bbb Serd S £ Al s
Final account ZW 0¥ (D) Trial Balance .:A;km?l.ﬂ:i’ () Cashbook ..J._’J‘-"(B} Balanotsheet 2205 (A)

Two parallel lines drawn on the face of a cheque is ' ut J:f pﬁ:ﬂ de"' L'{Jﬁ 4 ..._f; ug .7

Dishonoring &- £ 2/s3” (D) Endorsement d_f.f[c] Issuing &- £+21 (B)_ Crossing LLisnS (A)
— I'.'/L by U ) whj & -8

Bank pays high rate of interest on

Fixed Account .;,stfcu 47 (B) Saving Account 4 =g (A)
Foreign Currency account 4:&&(‘ or yf 2 (D) Current Account 4;“",(,4, {C)

Furniture purchased on credit will be recorded in O Z BTt 4ot | 9
Cash Payment Journal LE!;I.&" £¥54(B) Purchase Journal & 47 #tiss (A)
General Journal (£ £t (D) Cash Book ut...;.f'-f{c}

Which column of cash book is not balanced ? e U6 ¥4 L (H(U/i: J‘rf! -10
' Details & (D) Banl'l% (C) Cash 3 (B) Discount 7 (A)

Zakat deducted by bank will be entered in cash book & an Lo L ..L: V5 ufl? =k | A1
Credit cash column Hﬁf-f 21/ (B) Debit cash column Ht’u‘?f < (A)
Credit Bank éolumn Hb’_ﬂ.bfy" (D) Debit Bank cojlumn Hl’..& 22 (C)

Chegques deposited into bank but not cleared are named s bbbt S oun £ ,.:/‘-':"L Ay Lo /G Lk 12
Uné@redited cheque G £ Z >4/ (B) Un presented cheque G v Z (A)
pishohoured cheque 527 (D) Omitted cheque 2L # (C)

payment a bill of exchange before due date means Gy g,Elsi (;Uj! J‘ P fy;l:' u}' 13
- Dishonour of bill §#* Sk (B) Discounting of bill ﬂ:’.&,.;u‘h (A)
Renewal of bill £& (¢4 (D) Retiring of bill (14£ § ¥k (C)

Interest on renewal of billof exéhanige is income of e Ul or 4 28 Sk | 14
Endorsee L.lglffq}é [D} Payee J.ﬂ'df: {C) ~ Drawee J..Jl s (B)  Drawer J-ﬁf..g; {A)

) Enags :lfgf ..Lp(bl .’;_.!J140 &7 Gz 49 (} Laf ad 4 £ W VY4 JL !’g'_y 5600 | -15
Purchased goods for Rs. 5600 subjecte to 4 % discount and paid carriage expenses on it Rs 140 ;
Purchase account will be debited with I

5376 (D) 5600 (C) 5740 (B) 5516 (A)

Which one is a capital receipt ?- e Ui ¥ of | 16
Interest on deposit »» 4 ?4_ & (B) Investment by owner (¥ 2L g A (A)
Collection form Debtors U & U/ (D) sale of goods =35/ J 4 (C)

Closing stock in business is _ 4 Ji r,lf 380 L Lk | 17
Fixed asset :21..}-‘” {D) Current asset 28y (C) Intangible asset AHJ 7/ (B) Fictitious asset .&HJ" {A)

The term “ Marshaling ” is associated with 4  y n A" plbe | 18
Balance Sheet <22 (B) Trial Balancle a-:&!;ﬁ:ﬂ? LTA)
Profit and loss account & s gl sU (D) Trading account 4.:&@1?&)

If trial balance does not agree , the difference is put into 4 Jlg U";; S/ x ..‘ucﬁ| o (?I.JT 2|19
e Drawing account Wb (B) Capital afcount Ly (A)
: _ Suspense account u!.shrf #(D) Trading aécount L4 (C)

Over or under statement of balance of any account is an error of Ko Jﬂv( oﬂ g a_:f ( 11 uLJ g kv L If( 20

Omission ermrtfu JJgUJ# (D)  Principle error J"' Jusm(C)  Posting error J"‘Jwﬁ (B) Costing eémr J‘"JL/J J(A)
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TOTAL MARKS : 80 PART =1 (sl 0 80 : A,
Q. No.2 Write short answers of any Five parts 2x5=10 .4! ey 4 Vet A..-r?l ih:..df Zﬂd!r
Define business transaction. D(i Kr I "‘2& _5_&; JL{: u:‘-’ Yo
Explain in brief the cost concept. ' -g....-?bs 7/‘9 Ju‘a A7 =7 i
Reproduce the list of elements present in an accounting equation. it J/l:' .u"i L edsls o L | i
S § 8 A T n £0:30,000 2 elat ) 40 120,000 & d f ele 21 1| v
If Assets =Rs. 120, 0{)0 and Liabilities = Rs. 30,000 ldentify the amount of capital.
Differentiate between current account and saving account. -édu J} :b(..ﬁ 2 :lf..alv v
Discuss honour of cheque, z_{ug/ i J._g vi
Which book is called three column cash book ? v IE LS| i
Why is it necessary to compare cash book and pass book ? S S u[,.}m I(....fu’g sl ._fuv viii
Q. No.3 Write short answers of any Five parts 2x5=10 _:;_"7 Y 4 Ve Z.'lﬂ él.a.df _3/der
Differentiate between drawer and drawee. -q‘{uk J/ s L .‘3 sl u/u-/ i
Elaborate in-land bill of exchange. weo Ll JUM fi
Why profit and loss account is prepare ? Ay, P UK ol 8’ ¢ | dii
Give two examples of current i'iabilities. _é.; =7 Ju..«hls Uhs | v
Describe capital expenditure. -5..#!.4: JHHII Yk | v
Narrate the meaﬁing of capital profit. 3 lv L dl/ Uk | Vi
Define the term error of commission. .é: ; Ju,_-_ﬁb L}H’Jl vii
Explain the purpose of suspense account in rectification. B X% ] u"k L Uikt § Yl \.r'iii__I

NOTE : Attempt any Three questions from this part  3x20=60 ﬁ ,y’ Y4 L=y ut c..Jf e oY S
Jou_rnahze the following transactions of Usman Traders. .éblj; LSz Jﬂqu)gﬁ VYV I0 4 4/dlr

Wl A e i Jz._ulsoaot}‘ o &} ¥ &1, 20000 u’f.f_,u 80000 & L ei®
Usman started business with Cash Rs 80,000, furniture Rs 20,000 and goods Rs 15,000 i

Purchased goods for Rs 25,000 from irfan. u:(gi i Ja_uzsooodf‘ = gb/sf
Goods amounting to R$_2500 returned to Irfan. _u:rg,ﬂl.c oM |f¢'..,u 2500 5" fu(if
Sold goods to Ali for Rs 15,000 Y 0% PR, 415000 & S F
Paid cash to Irfan Rs 10,000 as parfpayment. 211 £010000 & = 2 Bt F S oy
Goods of Rs 2000 returned from Al ..q_’:)’udh i (J' A d’d.._uZGOO 8"
Received cash Rs 8000 from Ali as part payment. Lst s U” 4-3,8000 5" &Ll de (J'
Goods of Rs 1000 distributed as charity. .Q:/r‘:-j (#L h..-li o2 J 341000 &
Withdrew cash Rs/5000 for'perSonai use. -glﬁ = ;Lub’.e_usooo d“ 4. £. JM J!}

Paid Rs 5000 salary aﬁd Rs 7000 for rent. 4 ..,r/ &47000 &' 41 W7 &2 5000 &

ii
iii
iv
v
vi
vii
viii
ix
X

ot QYL ot S z,u.réﬁ.'ug e 42 - SAJr

State with reasons whether the following items are capital or revenue

|_,Eb! Jui,lfl GJ’F gd}”’; J :ﬁ) P g’;guh’

Legal expenses paid for registration of newly purchased land for business.

l_gbl ch@'{f/&j d4l4 4 6tl4]. Jcﬂj é_’JLJJr

Commlssmn paid to real estate dealer on purchase of land for business

White wash expenses for office building. _gbi J‘..I!Iil Z s 7 4 = J):
Wages of workers for construction of factory building. .ﬁm Ju?ll :ru.u»)' &fﬁ? JHJU Lfd/-g
Painting expenses for newly constructed factory building. _‘,EI:! J&u’ ...@t. 4 =N oy j & Jd/‘-g
Payment of salaries to office staff. .J!:r u‘_!'if J.Jl.’— L ﬁ:
Advertising expenses for sales promotion o -{Ebl J&][’ Q/JU 19+ ey

' .&.!.//u!..m'd’é_xuw..mr'_lﬁa..ﬁfwl

Repair expense for equment damage during unpacking.
Obtained a loan from bank to finance new project. IS e éf,:" £

B § oz ) Lo Sl st FSp 2L uﬁ‘sc-w-’;-@ﬁ

Trafflc permit fee paid for moving heavy machinery on city street.

iii
iv
vi
vii

viii

ix
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023.
" Abid as on 30" September; 2 —
.f;!:i:—f e following particulars , prepare bank reconcillation statement of Mr. Ab 23000 SE VKU | T
] € as per pass book Rs 23000, "
| ;g,,.g,‘_;zoza/.” 30
| ...faf.n.Z‘t."f:.Ebi..E.,Jurgédkvﬁ5“"”3400””'4123221:?;““0&&69“
{ :hostzuis ;ofrn Rs. 1000 and Rs. 3400 passed for payment before 30" September,
resen 1
| .e r payment - ..é Y ,_} £,2023 7 30| Jii
- Uncredited cheques upto September 30,2023 Rs 2700 - # J 100 & | iv
i Service charges deducted by the bank Rs. 100 _d’Jf z}t w/..;{;'ﬂ:ﬁ 500 | v
i Directly deposited by a customer Rs. 500 /G y ¥ Jruldoo vi |
- I
_ A cheque for Rs. 1400 had been dishonored. A L :;J 7/‘)
B i St - - = 'r
Rectify the given errors, ___:M 2 i
: et e e e e e et . 1 e e g ———— J
| Purchase book over-cast Rs. 5000/- LY o) smf&‘ Ut;:odoo‘f ” i
| Salaries paid charged to wages account Rs. 10000/- ‘d"r bw ML Bk i 3000 &' ]
} WSt brre AV 4
Interest paid was wrongly posted as interest received Rs. 3000/-
| _L,.h',umo&‘d:hfﬁa'f‘-"w‘g"“!"f'!*'”m“&‘ iv
{ Payment of salaries Rs 1980/- was wrongly posted to salary account Rs. 1890/- v
1 . oIt Al anj e 80 F bad 8 B Y
| Purchase of old Machinery wrongly posted to sales account Rs, 5000/-
' Sales book under-cast Rs.1000/- £ 2:& ‘rlry 1000 & yﬂ;} {t:: .
| Sales return Rs.2000/- by Shahid has been omitted to record. & J# £/ tw 2 s o J o 2000 L}J s
-bfd«h;.usooot}fa.ﬁ:ifﬁd':.&"‘!w},pJa,.uaooob"'m' viii
| Credit sales to Ali Rs. 3000/- wrongly debited to his account Rs, 6000/- tjr I
' Rent paid Rs, 2000/- was omitted to be recorded. ‘2: J"‘ t/&” ghfb! "f("ru A .
Il_sﬂ'?_s. return book under cast Rs. 2000/- = oA JL{—#’) LR

B S T hd 4 Un L w) Jr £ Fut - ] i 460,000 fUeslat| 84U

i ot £ ) 3L Iribi b8 § S 177 A 4
. l‘JJ;.;dﬁf{JfbM!lZL.gﬂfl{Z} U dj‘dszrufl-ﬂﬁ(ll
1 S/ TS aus PJ ki ) /i) .u,u!! .sm/.e:r,.sdha..zﬁ{s}
| Naveed sold goods to Waqas for Rs. 60,000 Naveed drewa bill of exchange on Wagas for this amount
for four months , on maturity the bill was dishonored.

Pass Journal entries in Naveed's Journal under the following circumstances.

1. If Naveed retained the bill with himself tilldue date:

2. If Naveed discounted the bill with his banker@ 12 % per annum.

| 3. If Naveed sent the blll to his bank for coliection,.

! 4. If Naveed endorsed the bill to his creditor Asad.

44’;‘«_’0“!”»! :h(l'ulj)gu];{? b Ju* J'I)-Q/zjdlr

PrcpareF trading profit & loss:atcount and Balance Sheet.

Rs Rs
Machinery ' U 12000 | Discount o 4 627
Debtors " | 10690 | Sales e} | 11439
Bank & | 3151 | Creditors i/ | 12408
Openlng stock vAifus | 2920 | capital 18390
Purchases & 9092
Drawing LP 250
Carriage ML s 600
Wages =2l 1910
Salaries o’ | 1300
Insurance N 119
Postal Expenses | 380 132
Bad debts drngee | 700
42864 42864
Adjustrment e ki
(i) Closing stocks Rs 7928 427928 +2340% (i)
_(il) Depreciation on Machinery 5 % 5% s o 2d 4 G (i)
(iit) Outstanding wages Rs 300 < 300 1F v o (i)
{iv) Prepaid Insurance Rs 50 v 508018l (iv)




